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(iii) FoT GEIT1 — 5 3R 16 — 20 377 T 3T ¥97 &, 9% F97 1 37% H1 & | T T971 &
I TS FIFTH G775 |

(iv) o7 G&IT6 — 8 321 — 23 T FTRIT 97 8, I J97 3 37 &7 81 T F971 & I
GIHT=IT: 60 Jeg] & 371 7 &7 |

(v) FITGETY9 — 11 37K 24 — 26 T8 %1 TG FTHIT J97 &, J4% J97 4 3% &1 &/ T 71
F I GIHI=Id: 70 J5c] G e 7 571 |/

vi) T GEIT12 - 15 3R 27 — 30 T 3TRIT J97 &, I J97 & 6 3% & | T4 J941 & I
G 100 3151 @ 37186 7 &7 |

(vii) ITIH F¥ & I GI&TT U9 G2ieh §l4 T80 79T TJIIGHT [H637ER J1eG TIHT & Hial
3 1697 STTT =T8T |

General Instructions :
(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Question number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each-They are required to be answered in one sentence.

(iv) Question number 6 — 8 and 21 — 23 are short answer questions carrying 3 marks

each. Answers to them should not normally exceed 60 words each.

(v) Question number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Question number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as

far as possible.
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dig — H
SECTION - A

1. Tordl 9% ol 9T 9] hd AT AT 8 7 1

When 1s a good considered a normal good ?

2. el GITH (3ATH) TR, Q 3TeH HET 3R ‘n’ $ohlg ol AT &I, dl HIHd Y I8
g« (T foeped )
(A) had TR, - TR,
TR ¥ 9iEda
(B) F99 5 Fafeadq
(C) (A) 3R (B) gHI
(D) 39URH H ¥ hIE H T2 1

Let TR be total revenue, Q be quantity of output, and ‘n’ the number of units, then
marginal revenue equals : (choose the correct alternative)

(A) TR —TR__, only
Change in TR

) Change in Q only

(C) Both (A) and (B)

(D) None of the above

3. 3cUshiieteh 3cdTed Hhald shl IRYTHT EHeT | 1

Define short-run production function.

4, Z9H oha1adl 3T fasharati 1 o<t v Bl 2 : (T fashew giw) 1
(A) <heed YOI SR |
(B) <hdol UshTIehRIcHe iaaiiTar o
(C) (A) 3R (B) THI A
(D) 3TeUTiersh |

There are large number of buyers and sellers 1n : (choose the correct alternative)

(A) Pertect competition only

(B) Monopolistic competition only
(C) Bothin (A) and (B)
(D) Oligopoly
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5. Taeran futfe shima 9 = stfyaa g 7

What 1s meant by price floor ?

6. g TR “fordeh foTu 3IcUTe fohaT AT HHETSU |

SR

S AT “hd IATe R T gHEsy |

Explain the central problem “for whom to produce”.

OR

Explain the central problem “how to produce”.

7. Teh TTdMI4eh 3cdTe THTEHT sk 37ddd (concave) 991 8ldT & ? THSATST | 3

Why 1s a typical production possibility curve concave ? Explain

8. I8l Ueh I <h! shiFd T 1 Ul 3o & aeht T 2 Ufd 3ot &1 STl B, o 3&ehl | 100 ZhTS

" IZH 50 IHIE Bl Sl & | SHch] shIFd HIT AT Sl Tehel hilelu |

When price of a good rises from < 1 to < 2 per unit, quantity demanded falls from 100
units to 50 units. Calculate 1its price elasticity of demand.

9.  Weh I%] hl Yl shl SHTIId i< AT Tohral TR hehl shl SHTEAT HITT |

Explain any four factors that affect the supply of a good.

10. “H9Td AN S HHTd T (FeIH)” forfén gR1 Icted ol Ao & 9ai3y | 379 3T

ERIEE URAIS L

$IHd Jc4Ted
®) (3T3)

el AT
)

|G ArTa

1

10

10

15

21

28

AN TN NN DD
Dnh | &~ | W | D

)

NO |1 | O |
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Uierd 37Tl b 41 o o9 TN bl I&=H hIT | ShI0T GHT |

qiadi 3T %l IcTG
(3T3) (3T3)

] 3

2 7

3 10

4 12

5 11

Identity the equilibrium level of output using “marginal cost and marginal revenue”™

approach. Give reasons for your answer.

Price Output Total cost
Marginal cost
() (units) )
6 | 10 10
6 ) A S R
6 3 21 6
6 4 28 7
6 S 37 9
OR
Identity the three phases of the law of variable proportions. Give reasons.
Variable input Total product
(units) (units)
1 3
P 7
3 10
4 12
5 11
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1. 37U SISTR el “H® BH ' To=IvdT 37 38 THUMH HST | 4

Explain the feature “few firms” and 1ts implications in an oligopoly market.

12. Th YRR hadl G IEIAT X 3T Y T SUHFT HLal & | ST TIeeiNo o RT ITHRAT
G h! ITd THSATST | 6

A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using utility analysis.

3. GHSAEU ] Ush HUHM a5k (h) ¢ H CMU A< shl AR gAd! 3R (@) 3T (convex)
Bl 2 | 6

SR

HTHTa ITaEATIE e shl STTUNON TR ATfdfaieres M o5k UL 3Heh! SJaaR JHsT |
Teh GEATcH 3GT8W0T SIS | $9ceh @R bl ShRYT Hl FarsU |

Explain why 1s an indifference curve (a) downward sloping from left to right and

(b) convex.
OR

Explain the concept of Marginal Rate of Substitution and 1ts behaviour along the
typical indifference curve. Give a numerical example. Also give reason for 1its

behaviour.

14, T Atk ST TohUT T oieh GeUl SATIR I[® hial & | SFad™ | 3791 & §9d ol orral
2 | SFIE™ k1 I 98 I hidl 2 | 399 Y 9 9T 989 1 AT Fohd dredl ST AN
3R 3aAad AN §d18U | 3794 3T b T ShR0T ST | 6

An 1individual undertakes retail business in the premises taken on rent. The business 1s
financed by his own savings. He also manages the business himself. What are the
explicit costs and implicit costs 1n i1t directly identifiable ? Give reasons for your

answer.
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15. e SIS Heigdl &€ % 14,000 Ui 918 @ | 35 HH THY L HLhR =AdH HSigi! shl HUR0T
Z 18,000 ufa A8 T <t 2 | 39 Foia o uftormmt <6t same Hifse | et = 3=

hITT | 6

The equilibrium market wage rate 1s I 14,000 per month. The government finding it

low fixes minimum wage rate at < 18,000 per month. Examine the implications of this
decision. Use diagram.

hael BRI TCETRIAT o T I99 & 15 % &I W

For the blind candidates only in lieu of Q). No. 15

= "G & % HqeH S9R HSgl ot § 3ifueh MYlid s o qRmE! i =
<hITSIT, | Teh HEATH 3IGTEL0T T TN <hI{IT |

Explain the implications of fixing mimmimum wage rate higher than equilibrium market

wage rate. Use a numerical example.

LTig — ¢
SECTION - B
16. Tr=feifiaa v B wiicl Tt axqd sifaq iU el & : (T2 foepeq gfw) 1
(A) STIIHAIHA] i TP &
(B) WHH oS 2
(C) (A7 (B)cHH
(D) 3I9Rh H ° his i Tai

Goods purchased for the following purpose are final goods : (choose the correct
alternative)

(A) For satistaction of wants
(B) For investment in firm
(C) Both (A) and (B)

(D) None of the above

17. dSTEdfaeh Gehel BT] 3cd1¢ | T STI & 7 1

What 1s meant by real gross domestic product ?
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18. T=fctRad o @ o9 &1 It s B 7 (TE foreped gfm) 1
(A) Y
(B) &HII T
(C) HMT e

(D) 39BN

Which one of the following 1s an indirect tax ? (choose the correct alternative)
(A) Profit Tax

(B) Wealth Tax

(C) Customs duty

(D) Gaft Tax

19. HhRI ST H YSTd THAT <hl qieToT giieTe | 1

Define capital receipts in a government budget.

20. WA H f&Id Teh YRAR Hra1 g1 § TRua T ool H a3 dl § | YRd o JaH
T WTd H I8 SiFed oo ohal JTdT & : (T8 faehew i) 1

(A) =T @dhhisd (credit) 981
(B) el WTd o Sfeid (debit) 91 1
(C) YUSITd @Td o shise (credit) 98T |
(D) YSiHTd WTd @ Sfeie (debit) 91 1

An Indian company located in India invests in a company located abroad. This
transaction 1s entered 1n India’s balance of payments account on : (choose the correct

alternative)

(A) credit side of current account
(B) debait side of current account
(C) credit side of capital account

(D) debait side of capital account
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21. hIOT ¢oht SATST Tob TR o 1Y TSI AT HI9d AT 1 SFFaR hd1 SITAl & 3
(i) S R 319 SHTHTISAN ol SITST o1 YT |

(i) EEhR G I AT Y9 W =Y |
(iii) PR T IH gRI 391 o dof W T |

G1ving reason state how the following are treated 1n estimation of national income :

(1) Payment of interest by banks to i1ts depositors.
(1) Expenditure on old age pensions by government.

(11) Expenditure on engine o1l by car service station.

22.  HinTd UM Yt 3R HiHid serd T § 1 TR BT 8 ? gl o e oo HEY B 7 3
37T
gHY 91T © 1 AT 8 7 39 9eeh 9dTsuU |

What 1s the difference between marginal propensity to consume and marginal
propensity to save ? What 1s the relation between the two ?

OR

What 1s meant by aggregate demand ? State its components.

23. ¥ 500 HUS I MR a9 HH T UY 3™ H 32500 HUS hl gig Bl 3 | Haw
TUTh ohl ka1 ehiTwiY | 3

National income increases by < 2500 crore when an additional investment of I 500

crore 1s made. Calculate the value of investment multiplier.

24, HHE AT <31 § IS b ITFAT W Yidae < fGI1 SI1d1 8@ | 8k (3h) Hebel BRe] 341G
3R (@) HeAT0T T IS JTe] THTET ohl SR ST | 4

SR

THNcHh T80 THTAT (ROTTcH STl ShRUM ) & AR o eI U 3T Y919 9SdT & ¢ Ueh
3CTET0] Cohl SIS hiloTU |

Suppose a ban 1s imposed on consumption of liquor 1n the country. Examine 1ts

effects on (a) gross domestic product and (b) welfare.

OR

How do the negative externalities affect the welfare of the people ? Explain by taking
an example.
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25. Al Tafees smiera Y 3ruma 20 Jfasm g 3R 5 S 3 1000 &, dF STUST Sehl gR
T G <hl Tishal GHATST | 4

If the legal reserve ratio 1s 20 percent and new deposits < 1000, explain the process of
credit creation by commercial banks.

26. HE1 qid H gfg @ § Tag Wi 1 (Ui G &X) i fieh Iusmsy | 4

Explain the role of Reverse Repo Rate in increasing money supply.

27.  ‘S=d AR M9 i g U 3T o Ao & ol HYR0 S0 | [ sl -0
hITT | I8 i FHETST Toh Al s=rd 91 | 3Tk 81 a1 1 IHTE B | 6

Explain the determination of equilibrium level of national income using ‘saving and

investment’ approach. Use diagram. Also explain the effects 1f saving 1s greater than
Investment.

ha GG TUEATIRIAT o Tl 97 98T 27 & WM W

For blind candidates only in lieu of Q. No. 27.
U G 3T FHH Gfd e & TH 3= 61 Aqerd S HYRoT shid sl s=rd TR Hewr fafy

UTH <hilS8 | HSATSU =T BNTT Afe S=id a9l § 3¢k &l | 6

Derive saving and imnvestment approach from aggregate demand and aggregate supply

approach for-determination of equilibrium level of national mmcome. Explain what
happens 1if saving 1s greater than investment.

28. TThR TSl @1 § 9 o INERI ol 3 i 369Fh A oW g IGH Hidl & |
TEhHI 912 G LR i A1 39T U i T TI L Tl 8 N hy ? HSATST | 6

YT
HHATSU TLh R §91¢ 1T 37T TR0 &1 3239 h® UTH fohaT ST dhd1 8 7

Government provides essential items of food grains almost free to the families below

the poverty line. Which objective the government 1s trying to fulfil through the
government budget and how ? Explain.

OR

Explain how the economic stabilization objective can be fulfilled through the

government budget.
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29,

30.

58/1

fRr (fad) fafma et 3R a=iet (A=) fofma et o o= Ye shifsie | Jfe fafma e TR
2 dl 39 A1 3T 3T T IS STt U shl SRST hIfU |

Distinguish between the fixed exchange rate and the floating exchange rate. If

exchange rate falls, explain its etfects on exports and imports.

() e AN T Hae <MT 3G AR (T) Fobed TP TATST AT ol THheT hiToTT ; 6

(1)

(11)

(iii)

(1v)

(V)

(V1)

(vi1)

(viii)

(1X)

(X)

(x1)

HTSTeRT I |THTIST YL 3T9EH
[SUERGIRIC
3Tl YSil <Rl STHM

foresT &1 FeEel hiteh 3T

Tttt & <ht gfaenia 31

SIS

Y Tared ohl Haet =Te] Tl

IERI

o 31T T

U] T T HSR

11

~

T—

R )

50

40

30

60

20

20
150
(-) 10
100
70

600
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Calculate (a) Net Domestic Product at Factor Cost and (b) Gross National Disposable

Income :

(11)
(iii)
(1v)
(V)
(V1)
(vii)
(viii)
(1x)
(X)
(x1)

Dividends

Social security contributions by employers
Corporate profit tax

Consumption of fixed capital

Net factor income to abroad

Retained earnings of private corporate sector
Interest

Net current transters to rest of the world

Rent

Net indirect tax

Compensation of employees

12

(X Crore)

50
40

30

60

20

20
150
(-) 10
100
70

600
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